Example of One Possible Correct Pattern for Statistical Interaction Exercise:

	PRIVATE 
1) no relationships

	
	
	Class Type
	

	
	
	regular
	fast-track
	

	ADVANCE \D 3.60Class
	large
	60
	60
	60

	Size
	small
	60
	60
	60

	
	
	60
	60
	60


	PRIVATE 
2) class type only

	
	
	Class Type
	

	
	
	regular
	fast-track
	

	ADVANCE \D 3.60Class
	large
	50
	70
	60

	Size
	small
	50
	70
	60

	
	
	50
	70
	60


	PRIVATE 
3) class size only

	
	
	Class Type
	

	
	
	regular
	fast-track
	

	ADVANCE \D 3.60Class
	large
	50
	50
	50

	Size
	small
	70
	70
	70

	
	
	60
	60
	60


	PRIVATE 
4) additive

	
	
	Class Type
	

	
	
	regular
	fast-track
	

	ADVANCE \D 3.60Class
	large
	50
	60
	55

	Size
	small
	60
	70
	65

	
	
	55
	65
	60


	PRIVATE 
1) interactive

	
	
	Class Type
	

	
	
	regular
	fast-track
	

	ADVANCE \D 3.60Class
	large
	50
	60
	55

	Size
	small
	60
	90
	75

	
	
	55
	75
	65


